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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
T FEHERE
= 1 203, 669
SRR T
= 1 66, 900
ISR UBE
= 1 66, 900
AR — AR
FRE 4 3,797 15, 188
FEEREZER
FRE 4 3, 488 13,952
WEEEER
FRE 4 2, 969 11, 876
A SR 2tHE
FRE 4 1,725 6, 900
A SR 458
FRE 4 2,615 10, 460
Ny s (v-v A AtFH 2.9t
FRE 2 2,929 5, 858
FAM 2000cc
FRE 2 1, 333 2, 666
WEmRE T
= 1 34, 625
5 3 A 2= 1
= 1 34, 625
B s (™ —=h v-n) Gr-A—4E
m 25 1,385 34, 625
e
= 1 102, 144
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
AEE T
= 1 102, 144
ZRFHE AR B
A
= 1 54, 042
ZRFE AR B
B
= 1 48, 102
B T HE
= 1 203, 669
BTl E:
= 1 74, 225
B ST ¢
= 1 6,661

= 1 6,661
HimE R (FE L)

= 1 67, 564
Wi

= 1 277, 894
BTk X=giiv oy

= 1 206, 500
R 5]

= 1 484, 394
— e

= 1 105, 606
Tk

= 1 590, 000
THE B 2 %8

= 1 59, 000
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
TG
= 1 649, 000
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
T FEHERE
= 1 14, 224, 558
JE T
= 1 660, 225
I L
= 1 81, 525
I +H
m3 250 326. 1 81, 525
2N
= 1 578, 700
PR (L) B -
m3 90 6,430 578, 700
LR
= 1 652, 390
TA77 v MR EEA & T
= 1 652, 390
NoyFur OERLET 2770 MEA 4 (13FH) &
MA
t 10 65, 239 652, 390
Pk A iE ) T
= 1 1, 899, 810
LI
= 1 1, 899, 810
5 CT-B300-L500
e 90 2,908 261, 720
5 SG2T-300-1995
e 90 18, 201 1, 638, 090
fo N
= 1 211, 890
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THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
fE N
= 1 211, 890
HRHLEEE R 0yl Fa- I %4-200-1.2000
m 30 7,063 211, 890
5 e At L
= 1 1, 244, 415
FEARI B AT 1
= 1 554, 640
=8 V= Gr=A-4E(J" =77 79)
m 40 13, 866 554, 640
5 1E Al T
= 1 689, 775
HRPE (REIKT) B LA P1-1.1-3. OE(}" =77 79V)
m 25 10, 905 272, 625
HRPE (REIKT) B LA P1-1.1-3. 0B(} =77 79V)
m 25 9,724 243, 100
EMZARNEEN ¢ 100 L=200
L 25 6, 962 174, 050
TR L
= 1 2,090, 120
N T
= 1 2,090, 120
TR VARY VA PANNY VAR G
e 20 104, 506 2,090, 120
T A R A% 1
= 1 1, 642, 440
B AT R L
= 1 1, 642, 440

E s Abkei )7 &6 R




N 2

it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
AR e e DLSA-5 (= Hdt5A) J i 55
ZN 20 16, 798 335, 960
TR R AT DLSA-5 (27— MaEA (R FLETe)) J
Tl S5
ZN 20 21, 491 429, 820
HLHR 53 AT H=400 w] 282 (ZRFL2C- LAHD)
ZN 20 21,036 420, 720
HLHR 53 AT H=650 w] 282 (ZR FL2C- LACHD)
ZN 20 22,797 455, 940
R
= 1 108, 760
AT
= 1 108, 760
TR BCA
m2 400 271.9 108, 760
(LSS
= 1 1, 410, 400
Bty ) -}
= 1 1, 410, 400
FYavy)-h 18-8-40BB W/C=65% t=10cm
m2 400 3,526 1, 410, 400
SRR T
= 1 1, 480, 491
ISV UBE (=
= 1 1, 480, 491
AR — R
FRE 90 3,861 347, 490
FEEREZER
FREH 30 3, 547 106, 410
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THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
WEEER
FRE 250 3,019 754, 750
A SR 2tHE
FRE 30 1, 754 52, 620
A SR 458
FRE 30 2, 660 79, 800
Ny s (v-v ) AtFH 2.9t
FRE 30 2,978 89, 340
FAM 2000cc
FRE 30 1, 355 40, 650
K 7 0 £250mm £ E5FE 10m
H 30 125.7 3,771
TR 3KVA
H 10 566 5, 660
WEmRE T
= 1 786, 537
5 3 A 2= 1
= 1 438, 237
B s (™ —=h v-n) Gr-A—4E
m 90 1,408 126, 720
B s (™ —=h v-n) Gr-B-2B
m 90 1,700 153, 000
BT CRERT - S57% B LA s | P1-1. 1-3. O
m 90 1,077 96, 930
BT CREBT - S5 74 B LA s | P1-1. 1-3. 0B
m 90 684. 3 61, 587
Pk IE i T
= 1 187, 110
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THEX Sy« TH - FERI - HH50 ps2) &= G AT G| T (G E LM
R = ES PUT-B300-1.2000
90 2,079 187,110
T AT IR e R A s
1 161, 190
HURR S AT A ZEFLEC (LA
90 1,791 161, 190
e
1 2,037, 080
RImE T
1 2,037, 080
AR FE AR B
A
1 732, 680
AR FE AR B
B
1 1, 304, 400
B T HE
1 14, 224, 558
B ST ¢
1 2,555, 578
B ST ¢
1 206, 110
BUGERRYCEE (5 1)
1 206, 110
MR R (B L)
1 2, 349, 468
Wi
1 16, 780, 136
BTk X=giiv oy
1 8, 859, 856
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
R 5]
= 1 25, 639, 992
— e
= 1 5,121, 786
ES e
= 1 1, 848, 222
Tk
= 1 32, 610, 000
THE B 2 %8
= 1 3, 261, 000
TG
= 1 35, 871, 000
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THEX Sy« TH - FERI - HH50 MoK PO B B G AT & G| T (G E LM
T FEHERE
= 1 15, 374, 801
JE T
= 1 741, 320
I L
= 1 97, 920
I +H
m3 300 326.4 97, 920
FEZEN T
= 1 643, 400
PR (L) B -
m3 100 6,434 643, 400
LR
= 1 652, 810
TA77 v MR EEA & T
= 1 652, 810
NoyFur OERLET 2770 MEA 4 (13FH) &
MA
t 10 65, 281 652, 810
Pk A iE ) T
= 1 2,112, 300
LI
= 1 2,112, 300
5 CT-B300-L500
bie 100 2,910 291, 000
5 SG2T-300-1995
bie 100 18,213 1, 821, 300
fo N
= 1 70, 680

-1- E s Abkei )7 &6 R




N 2

it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
fE N
= 1 70, 680
HRHLEEE R 0yl Fa- I %4-200-1.2000
m 10 7,068 70, 680
5 e At L
= 1 2,210, 400
FEARI B AT 1
= 1 832, 500
=8 V= Gr=A-4E(J" =77 79)
m 60 13,875 832, 500
5 1E Al T
= 1 1, 377, 900
HRPE (REIKT) B LA P1-1.1-3. OE(}" =77 79V)
m 60 10, 912 654, 720
HRPE (REIKT) B LA P1-1.1-3. 0B(} =77 79V)
m 60 9,731 583, 860
EMZARNEEN ¢ 100 L=200
L 20 6, 966 139, 320
TR L
= 1 2,091, 480
N T
= 1 2,091, 480
TR VARY VA PANNY VAR G
e 20 104, 574 2,091, 480
T A R A% 1
= 1 1, 643, 520
B AT R L
= 1 1, 643, 520
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THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
AR e e DLSA-5 (= Hdt5A) J i 55
ZN 20 16, 809 336, 180
TR R AT DLSA-5 (27— MaEA (R FLETe)) J
Tl S5
ZN 20 21, 505 430, 100
HLHR 53 AT H=400 w] 282 (ZRFL2C- LAHD)
ZN 20 21, 050 421, 000
HLHR 53 AT H=650 w] 282 (ZR FL2C- LACHD)
ZN 20 22,812 456, 240
R
= 1 136, 000
AT
= 1 136, 000
TR BCA
m2 500 272 136, 000
(LSS
= 1 1, 764, 000
Bty ) -}
= 1 1, 764, 000
FYavy)-h 18-8-40BB W/C=65% t=10cm
m2 500 3, 528 1, 764, 000
SRR T
= 1 1, 668, 336
ISV UBE (=
= 1 1, 668, 336
AR — R
FRE 100 3, 864 386, 400
FEEREZER
FREH 30 3, 549 106, 470
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THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
WEEER
FRE 300 3,021 906, 300
A SR 2tHE
FRE 30 1, 755 52, 650
A SR 458
FRE 30 2,661 79, 830
Ny s (v-v ) AtFH 2.9t
FRE 30 2, 980 89, 400
FAM 2000cc
FRE 30 1, 356 40, 680
K 7 0 £250mm £ E5FE 10m
H 30 125.8 3,774
TR 3KVA
H 5 566. 4 2,832
WEmRE T
= 1 755, 185
5 3 A 2= 1
= 1 367, 985
B s (™ —=h v-n) Gr-A—4E
m 90 1,409 126, 810
B s (™ —=h v-n) Gr-B-2B
m 90 1,701 153, 090
BT CRERT - S57% B LA s | P1-1. 1-3. O
m 50 1,077 53, 850
BT CREBT - S5 74 B LA s | P1-1. 1-3. 0B
m 50 684. 7 34, 235
Pk IE i T
= 1 208, 000
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THEX Sy« TH - FERI - HH50 ps2) &= G AT G| T (G E LM
R = ES PUT-B300-1.2000
100 2, 080 208, 000
T AT IR e R A s
1 179, 200
HURR S AT A ZEFLEC (LA
100 1,792 179, 200
e
1 1,528, 770
RImE T
1 1,528, 770
AR FE AR B
A
1 549, 870
AR FE AR B
B
1 978, 900
B T HE
1 15, 374, 801
B ST ¢
1 2, 687, 946
B ST ¢
1 217, 863
BUGERRYCEE (5 1)
1 217, 863
MR R (B L)
1 2,470, 083
Wi
1 18, 062, 747
BTk X=giiv oy
1 9,429, 115
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
R 5]
= 1 27, 491, 862
— e
= 1 5, 458, 723
ES e
= 1 1,849, 415
Tk
= 1 34, 800, 000
THE B 2 %8
= 1 3, 480, 000
TG
= 1 38, 280, 000
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